UGC NET 2022 ENGLISH SH2

Topic:- 30_SH1_PARTA_S2

D When did T.B. Macaulay present his "Minutes on Education” advocating English education in
India?
1.12% March, 1835
2. 2™ February, 1835
3.22™ January, 1835
4, 5% May, 1835

[Question ID = 1][Question Description = 101_30_ENG_OCT22_S2_QO01]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) "It ought to be the first endeavour of a writer to distinguish nature from custom, or that which
is established because it is right from that which is right only because it is established; that he
may neither violate essential principles: by a desire of novelty, nor debar himself from the
attainment of beauties within his view by a needless fear of breaking rules which no literary

dictator had authority to enact”.

The above passage considered to be the death- knell of the nec-classical eriticism is attributed
to

1. Jahn Dryden

2, Alexender Pope

3. Samuel Johnson
4. Joseph Addison

[Question ID = 2][Question Description = 102_30_ENG_OCT22_S2_Q02]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3) Gabriel Garcia Marquez's postscript to The General (n His Labyrinth (1997) abeut Simon
Belivar's last and terrible journey to the Carribean coast of Nueva Granada in 1830 is one of the
finest examples-of

1. reading archive and using its contenis.

2, processing archival information for thoretical judgement.

3. irrelevance of archive for an artist.

4. a novelist getting misguided by the archive,

[Question ID = 3][Question Description = 103_30_ENG_OCT22_S2_Q03]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]



4) Which of the following is NOT a method of data analysis?

1. Qualitative method
2. Quantitative mathod
3. Mixed method

4, Subjective method

[Question ID = 4][Question Description = 104_30_ENG_OCT22_S2_Q04]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

%) Who has used the term "bowling alone” to describe the erosion of community ties in the

United States 7
1. Frarik Furedi
2, Zygmunt Bauman
3. Robert Bellah
4, Robert Putnam

[Question ID = 5][Question Description = 105_30_ENG_OCT22_S2_QO05]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Which of the following is NOT a kind of 'sign’ as suggested by Charles Sanders Pierce?

1. lcon

2. Index
3. Symbol
4, Visual

[Question ID = 6][Question Description = 106_30_ENG_OCT22_S2_Q06]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7) Whie ameng the follewing was a major advocate of cral history?

1. Sylvia Plath

2, Esther Greenwood
3. Paul Thempson

4. Carolyn Steedman

[Question ID = 7][Question Description = 107_30_ENG_OCT22_S2_Q07]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]



8 - . : y - .
) Whe amoeng the following considers a text as a " site of struggle between authority and

popular culture”?
1. Roland Barthes
2. Northrap Frye
3. Mikhail Bakhtin
4, Michel Foucault

[Question ID = 8][Question Description = 108_30_ENG_OCT22_S2_Q08]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

%) Hudibras of Samuel Butler reflects on the revolt against

1. Puritanism
2. Hellenism
3. Humanism
4. Anglicanism

[Question ID = 9][Question Description = 109_30_ENG_OCT22_S2_Q09]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10 Emblems by Francis Quarles is ;

1. A commentary on Homer's llliad

2. A commentary on a valume of Biblical illustrations
3. A commentary on Virgil's Aeneid

4. A commentary on Thomas Moore's Utopia

[Question ID = 10][Question Description = 110_30_ENG_0OCT22_52_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

L Whe among the follewing is the author of The Steele Glas 7

1. The Earl of Surrey
2. Thomas Sackville
3. George Gascoigne
4, Edmund Spenser

[Question ID = 11][Question Description = 111_30_ENG_0OCT22_52_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]



12) Sir David Lyndsay's-Satire of the Three Estatis is both

. Political and religicus

==

. Political and =ecular
. Immuoral and secular

B R

. Immuoral and religious

[Question ID = 12][Question Description = 112_30_ENG_0CT22_S2_Q12]
. 1 [Option ID = 45]
2 [Option ID = 46]
3 [Option ID = 47]
4 [Option ID = 48]

A wnN =

13) Whe among the following has used lines from the Shakespearean play Othello to critique

racism in ene-of his poems?
1. Edward Braithwaite

. Franz Fanon

. Derek Alton Walcott

. Ngiigi wa Thiong'o

B T

[Question ID = 13][Question Description = 113_30_ENG_0CT22_S2_Q13]
1 [Option ID = 49]
2 [Option ID = 50]
3 [Option ID = 51]
4 [Option ID = 52]

A wnN =

14) Derek Alton Walcott in the poem " The Sea is History " makes a parallel between

. Evelution of mankind and nature
. Evolution of human history and religion
. Evolution of Paganism and Christianity

]
2
5
4. Evolution of Christianity and slavery of the Blacks

[Question ID = 14][Question Description = 114_30_ENG_0CT22_S2_Q14]
1 [Option ID = 53]
2 [Option ID = 54]
3 [Option ID = 55]
4 [Option ID = 56]

N wnN -

19) The Voyage and Travail of Sir John Mandeville was written in

. Queens English

. Northumbrian dialect
. Midland dialect

. Coekney

==l

S R .

[Question ID = 15][Question Description = 115_30_ENG_OCT22_S52_Q15]
1 [Option ID = 57]
2 [Option ID = 58]
3 [Option ID = 59]
4 [Option ID = 60]

AN wnN =



16)  rhe Elegy written in a Country Churchyard” is written in ;

1. Quatrains of ten syllable lines
2. Octave and Sestet

3. Heroic couplet

4, Alexandrines

[Question ID = 16][Question Description = 116_30_ENG_0CT22_S2_Q16]
1 [Option ID = 61]
2 [Option ID = 62]
3 [Option ID = 63]
4 [Option ID = 64]

A wnN =

17 Marge Piercy's novel Woman on the Edge of Time (1976) is based on -

. Shulamith Firestone's The Dialectic of Sex
. Margaret Atwood's The Handmaid's Tole
. Lewis Caroll's Alice in Wonderland:

. Donna Haraway's A Cyborg Manifesto

==l

B SR

[Question ID = 17][Question Description = 117_30_ENG_0CT22_S2_Q17]
1 [Option ID = 65]
2 [Option ID = 66]
3 [Option ID = 67]
4 [Option ID = 68]

A wpN =

18) Which among the following is a shert stery by the Booker Prize winner Geetanjali Shree;

1. Khali Jagah

2. Hamara Shahar Us Baras
3. Bel Patra

4. Mai

[Question ID = 18][Question Description = 118_30_ENG_0CT22_S2_Q18]
. 1 [Option ID = 69]
2 [Option ID = 70]
3 [Option ID = 71]
4 [Option ID = 72]

A wnN =

19) Wormen of Palestine (1982) and Indian Women in Struggle (1980) deal with :

1. women's religious and familial issues

2, female militancy and political involvement
3. wemen's struggle at their work place

4. women's reproductive rights

[Question ID = 19][Question Description = 119_30_ENG_0OCT22_52_Q19]
1 [Option ID = 73]
2 [Option ID = 74]
3 [Option ID = 75]
4 [Option ID = 76]

AN wnN =



20) The follewing statement is written by which of the authors given below:-
"Could fulfillment ever be felt as deeply as loss?"

1. Arundhati Roy

2. Kiran Desai

3. Shashi Tharoor

4. Rohinton Mistry

[Question ID = 20][Question Description = 120_30_ENG_0CT22_S2_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Wh first translated the Bhagovad Gito into English?

1. H T Celebrook
2. Alexander Duff
3. Charles Wilkins
4. Sir William Jones

[Question ID = 21][Question Description = 121_30_ENG_0OCT22_52_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Whe ameng the following is excdusively associated with diary writing in English?

1. Samuel Pepys

2. Samuel lohnsen

3. Ben Jonson

4, Samuel Richardsen

[Question ID = 22][Question Description = 122_30_ENG_0OCT22_52_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Abt Viogler is authored by

1. Matthew Arneld

2. Robert Browning
3. A. L Tennyson

4, None ef the above

[Question ID = 23][Question Description = 123_30_ENG_0OCT22_52_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24) The predeminant emotion running through the poem "Cristina” by Robert Browning is that of

1. Sadness

2. Aggression

3. Love

4, Nene ef the above

[Question ID = 24][Question Description = 124_30_ENG_0CT22_S2_Q24]
. 1 [Option ID = 93]
2 [Option ID = 94]
3 [Option ID = 95]
4 [Option ID = 96]

A wnN =

25) Which one is correctly matched?

1. Heathcliff — Mansfield Park

2. Maggie Tulliver — The Mill on the Floss
3. Josiah Bounderby — Wuthering Height
4. Fanny Price — Hard Times

[Question ID = 25][Question Description = 125_30_ENG_0CT22_S2_Q25]
1 [Option ID = 97]

2 [Option ID = 98]

3 [Option ID = 99]

4 [Option ID = 100]

A wpN =

26) Which of the following works has Santiago as its protagonist?

. Mansfield Park

. The Mayor of Casterbridge
. The Old Man and the Sea
. The Lord of the Rings

==

B T

[Question ID = 26][Question Description = 126_30_ENG_0OCT22_S2_Q26]
1 [Option ID = 101]
2 [Option ID = 102]
3 [Option ID = 103]
4 [Option ID = 104]

A wN =

27) Which of the following texts coins the slogan "Vande Matram™?

1. Anandmiath

2. Mrinalini

3. Durgeshnandini
4. Kapalkundala

[Question ID = 27][Question Description = 127_30_ENG_0CT22_S2_Q27]
1 [Option ID = 105]
2 [Option ID = 106]
3 [Option ID = 107]
4 [Option ID = 108]

A wpN =



28 - A . . ) 4 o
) Whe among the following is associated with the term ‘Intentional Fallacy' in literary criticism?

1. WK Wimsatt
2. Rolland Barthes
3. 1. Hillis Miller
4, lohn Keats

[Question ID = 28][Question Description = 128_30_ENG_0OCT22_S2_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Which of the following works (s'set in the backdrop of the religious persecution in Mexica?

1. The Power and the Glory
2, For Whom the Bell Tolls
3. I Qur Time

4. All of the above

[Question ID = 29][Question Description = 129_30_ENG_0OCT22_52_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Whe among the following coined the term The Movement'?

1. FW. Bateson
2. FR. Leavis
3. 1.D, Scott

4, L.A. Richards

[Question ID = 30][Question Description = 130_30_ENG_OCT22_S2_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

31 Match List | with List I

List | List Il

A Yasmine Gunaratne |l Post card from Kashmir

B. Imtiyaz Dharkar Il. Advice to Women
C. Agha Shahid Ali Ili. Post card from God

D. Eunice de Souza  |\MThis Language, this weman

Choose the correct answer from the options given below:
T.A-LB-IV,C-1, D=1l
2A-IV,B-Il,C-1,D-1l
3.A-LB-I,C-1I,D-1V
4. A-IV,B-II,C-1,D-I

[Question ID = 31][Question Description = 131_30_ENG_OCT22_S2_Q31]
1. 1 [Option ID = 121]



2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

32) Dev Virahsawmy's Toufann is an adaptation of Shakespeare's play

1. Hamlet

2. Macbeth

3. The Twelfth Night
4. The Tempest

[Question ID = 32][Question Description = 132_30_ENG_0OCT22_52_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

33) Uttargramacharita by is based on Valmiki's Ramayana.

1. Bhasa

2. Bhavabhuti
3. Bharavi

4, Kalidasa

[Question ID = 33][Question Description = 133_30_ENG_0OCT22_S52_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

34) In Kannada literature, Vachana Movement’ addressed

1. progressive values
2, vedic themes

3. vedantic thoughts
4. upanishadic ideas

[Question ID = 34][Question Description = 134_30_ENG_OCT22_S2_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

35 5 . i . . : -
) Inane gaudiness” is a phrase used in connection with Neo-classicisn by

1. William Wordsworth
2.S.T. Coleridge

3. Matthew Arnold
4,T. 5, Eliot

[Question ID = 35][Question Description = 135_30_ENG_0CT22_S2_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]



36) Whe defined ‘Hamartia' as“‘tragic flaw'?

1. Aristotle

2. Dr. Samuel Johnson
3. Mathhew Arnold

4. A, C Bradley

[Question ID = 36][Question Description = 136_30_ENG_0CT22_S2_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

37) The follewing statement is given by which of the below mentioned critics?

"l was indignant; | demanded an explanation. Nothing happened. | burst apart.”
. Gayatri Chakravorty Spivak
. Homi K Bhabha

. Stuart Hall

. Frantz Fanon

==l

B SR

[Question ID = 37][Question Description = 137_30_ENG_0OCT22_52_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

38) Gaiutra Bahaduris a Writer.

1. Mauritian
2. Fijian
3. Trinidadian

4. Guyanese

[Question ID = 38][Question Description = 138_30_ENG_0OCT22_52_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

39) Hermann Hesse's Siddhartha was originally written in .

1. French
2. Russian
3. English
4, German

[Question ID = 39][Question Description = 139_30_ENG_0OCT22_52_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]



40) Brij V. Lal's Rema’s Banishment deals with the history of Fiji of a time period of

1. 50 years

2.100 years-
3.150 years-
4. 200 years

[Question ID = 40][Question Description = 140_30_ENG_O0CT22_S2_Q40]
1 [Option ID = 157]
2 [Option ID = 158]
3 [Option ID = 159]
4 [Option ID = 160]

A wnN =

41 . ) :
) Choose the novels that use ‘'magic realism’ as a tool of narration:

A. The Shadow Lines

B. One Hundred Years of Solitude
C. Midnight's Children

D. Beloved

E, Kanthapura

Choose the correct answer from the options given below;
1.4, B and Conly
2.8, Cand D only
3.C, Dand Eonly
4.8, C, DandE only

[Question ID = 41][Question Description = 141_30_ENG_O0CT22_S2_Q41]
1 [Option ID = 161]
2 [Option ID = 162]
3 [Option ID = 163]
4 [Option ID = 164]

A wnN -

42) Which of the following are novels of Irvine Welsh?

A, The Acid House

B. Trainspotting

C. Beside The Ocean of Time
D. Filth

E. Maris Belfrage

Choose the correct answer from the options given below;
1.8, D and E only
2.A Band Conly
3.B, Cand D only
4. A BandDonly

[Question ID = 42][Question Description = 142_30_ENG_O0CT22_S2_Q42]



1. 1 [Option ID = 165]

2. 2 [Option ID = 166]

3. 3 [Option ID = 167]

4. 4 [Option ID = 168]

43) " . , ) =
Which of these is related exclusively with Jacgues Lacan?
A, Real
B.1d
C. Symbaolic
D. Ego

E, Imaginary

Choose the correct answer from the options given below;
1.A and B enly
2. B and D only
3. C and E only
4. A and Eonly

[Question ID = 43][Question Description = 143_30_ENG_O0CT22_S2_Q43]
. 1 [Option ID = 169]
2 [Option ID = 170]
3 [Option ID = 171]
4 [Option ID = 172]

A wnN -

44) Which of the following are NOT by Rabindranath Tagore?

A, Visarjan

B. Chandalika
C. Muktadhara
D. Barineeta

E. Pungrnava

Choose the correct answer from the options given below:,
. A and B only
.B and Conly
.Dand E only

B T R

A and C only

[Question ID = 44][Question Description = 144_30_ENG_O0CT22_S2_Q44]
1 [Option ID = 173]
2 [Option ID = 174]
3 [Option ID = 175]
4 [Option ID = 176]

N wnN -



45)

Identify the film/films that were based on Booker winning nevels;-
A. Life of Pi

B. The Remains of the Day

C. Milkman

D. The Sellout

E The Inheritence of Loss

Choose the correct answer from the options given below;
1.B and Eonly
2. A and B only
3.Cand D only
4.B and D only

[Question ID = 45][Question Description = 145_30_ENG_O0CT22_S2_Q45]

A wnN =

46)

1 [Option ID = 177]
2 [Option ID = 178]
3 [Option ID = 179]
4 [Option ID = 180]

Identify the comect cnes among the following:

A. The dramatic menologue ensures the reciprocal dialogue of the narrator.

B. The nintzenth century poets fully exploited the poetic form of dramatic monologue.

C. The Poetry of Experience by Robert Langbaum outlines a discussion on dramatic monologue,

D. The linguistic pragmatics make the narcissistic speaker of dramatic monologue speak
exclusively.

E, The speaker and the listener inthe dramaticmonologues of Robert Browning share the same
pedestal of communication.

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C, DandE only
4. B, D and E only

[Question ID = 46][Question Description = 146_30_ENG_OCT22_S2_Q46]

A wpN =

1 [Option ID = 181]
2 [Option ID = 182]
3 [Option ID = 183]
4 [Option ID = 184]



47) Identify the Postcolonial critics who used the ideas of Lacan, Foucault and Derrida while

critiguing "Euro-centrism'?
A, Homi Bhabha

B. Gayatri Chakravarty Spivak
C. Abdul Jan Mohammad

D. Edward Said

E Amie Cesaire

Choose the correct answer fram the options given below;
1.A, B, Cand Donly
2.A BandC only
3.B,C, DandE only
4. C, Dand E only

[Question ID = 47][Question Description = 147_30_ENG_OCT22_S2_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

48) Which among the following are correct?

A. George Lamming - Barbados
B. Ben Okri - Nigeria

C. Fred D Aguiar - Australia

D. Wilson Harris - Guyana

E, Zulfikar Ghose - India

Choose the correct answer from the options given below;
1.A, Cand Donly
2.B, Cand D only
3.C Dand Eonly
4. A BandDonly

[Question ID = 48][Question Description = 148_30_ENG_O0CT22_S2_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]



A wpN =

49) Identify the comrect pairs.

A, Kalidasa - Amoghvarsha

B. Bhavabhuti - Uttararamcharita
C. Bhasa - Urubhanga

D. Rajashekhara - Rgjatarangini
E. Somadeva - Kathasaritsagara

Choose the correct answer from the options given below;
1.A, Cand Donly
2.C,Dand E only
3.B, Cand Eonly
4.8, D and Eanly

[Question ID = 49][Question Description = 149_30_ENG_O0CT22_S2_Q49]
1 [Option ID = 193]
2 [Option ID = 194]
3 [Option ID = 195]
4 [Option ID = 196]

>0 Which of the following statements hold true with respect to Alexander Pope's "Essay on

Criticism”7

A, Itis "an inquiry into the nature and value of poetry”,

B. It presents “a series of generalizations about good taste”,
C. It explores the challenges of impartial and just criticism.
D. It underlines the traits of “the good critic”,

E, tt critically reflects on Plato's rejection of poetry.

Choose the correct answer from the options given below;
1.A and B enly
2. B and Conly
3.A B CandEonly
4.B, Cand D only

[Question ID = 50][Question Description = 150_30_ENG_0CT22_S2_Q50]

A wpN =

1 [Option ID = 197]
2 [Option ID = 198]
3 [Option ID = 199]
4 [Option ID = 200]



A wpN =

51)

Which of the following are applicable to the term 'Carnival'?
A, It became important through the work of the Russian theorist Mikhail Bakhtir.

B. It means the way in which popular humiour subverts official authority in classical, medieval
and renaissance texts and culture.

C. It overturns the established hierarchy and sets up a popular and democratic counter-culture,
D. It brings out the serious elements in literature.
E Itis used as a critical too! for interpretation of postry,

Choose the correct answer fram the options given below;
1.4, Band Conly
2.A and B only
3.B and Conly
4. 4 and C only

[Question ID = 51][Question Description = 151_30_ENG_OCT22_S2_Q51]

52)

1 [Option ID = 201]
2 [Option ID = 202]
3 [Option ID = 203]
4 [Option ID = 204]

Which of the following are the premises of Post.colonial Criticism?
A, It rejects the claims of universalism made in the canonical Western literature.

B. It-foregrounds the guestions of cultural difference and diversity as represented in literary
texts,

C. It acts en the principles of peacful co-existence.
D. It celebrates "hybridity” and "Cultural polyvalency”.
E, It resists any attempt at homogenization based on race, class-and nationality.

Choose the correct answer fraom the options given below;
1.4, Band D only
2.A B DandE only
3.B, Cand D only
4. Cand D enly

[Question ID = 52][Question Description = 152_30_ENG_OCT22_S2_Q52]

A wN =

1 [Option ID = 205]
2 [Option ID = 206]
3 [Option ID = 207]
4 [Option ID = 208]



33) Which of the following statements are true in the context of Henry Fielding's Tomi Jones [1749)

A, Torm Jones is comic and moralistic.

B. Tom and Jenes are the main characters of Tom fones
C. Tom is caught poaching in neighbor's game preserve.
D. The History of Tom Jones is the full title of Tom Jones

E, All of the above

Choose the correct answer from the options given below;
1.Eonly
2. A, Cand Donly
3.A B CandDonly
4.B, Cand D only

[Question ID = 53][Question Description = 153_30_ENG_0CT22_S2_Q53]
1 [Option ID = 209]
2 [Option ID = 210]
3 [Option ID = 211]
4 [Option ID = 212]

A wpN =

>4) Which of these books are written by Nirad C Chaudhuri?

A. The Continent of Circe

B, Principal Upanishads

C. A Passage to England

D. Our New Rulers

E, The Autcbiography of an Unknown Indion

Choose the correct answer from the options given below;
1.8, Cand D only
2.C, Dand E only
3.4, CandE only
4. A BandDonly

[Question ID = 54][Question Description = 154_30_ENG_0CT22_S2_Q54]
. 1 [Option ID = 213]
2 [Option ID = 214]
3 [Option ID = 215]
4 [Option ID = 216]

A wnN =



A wpN =

33) Which of the following are true'in the context of "Phenomenology”

A, It is "a form of methodological idealism” which seeks to explore ‘human consciousness’,
B. As a philosophical method, it was developed by Edmund Husserl,

C. Martin Heidegger is one of its leading philosphers.

D. Martin Heidegger's approach is "essentialist”.

E. Text is considered purely as an embodiment of the authors conciousness,

Choose the correct answer from the options given below;
1.A, B, Cand Donly
2.B, Cand D -only
3.A, B CandE only
4.C, Dand Eanly

[Question ID = 55][Question Description = 155_30_ENG_O0CT22_S2_Q55]
1 [Option ID = 217]
2 [Option ID = 218]
3 [Option ID = 219]
4 [Option ID = 220]

>6) The aboriginal Australian poet, Codgeroe Noonuccal, in her poem "We are going” examines

the impact of colonial conguest on aberiginal Australians with reference 1o
A, Loss of 'bora ground’

B. Loss of aboriginal identity

C. Loss of new education

D. Loss of primitive culture

E. None of the above

Choose the correct answer from the options given below;
1. A, Band D only
2. C,Dand Eonly
3.A Band Conly
4. A CandD only

[Question ID = 56][Question Description = 156_30_ENG_0CT22_S2_Q56]

A wnN =

1 [Option ID = 221]
2 [Option ID = 222]
3 [Option ID = 223]
4 [Option ID = 224]



>7) What are the points of convergence between Derrida and Barthes?

A, Both believe in the endless play in language and literary texts
B. Both conclude that the meaning of a text is not final,

C. Beth construe that language has retrospective power,

D. They believe that no meaning is reliable.

E, They believe that "the relationship between words, meanings and texts are intrinsic to
mearning rather than the word itself.”

Choose the correct answer fraom the options given below;
1.4, B, DandE only
2.A B CandDonly
3.B, Cand D only
4. C, Dand E only

[Question ID = 57][Question Description = 157_30_ENG_0OCT22_S2_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

>8) According to Gerard Genette, which of the following are types of narrators?

A, Extradiegetic
B. Heterodiegetic
C. Intradiegetic
D. Homodiegetic
E, Interdiegetic

Choose the correct answer from the options given below:,
1.B and D only
2. A and B only
3. Cand D only
4. & and E only

[Question ID = 58][Question Description = 158_30_ENG_0OCT22_S52_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]



A wpN =

59)

Which of the following statements are true about Reader Response Critcism?
A, It challenges the nction that the meaning is located within the text,

B. It refutes that the author is the originator of meaning.

C. It sees the reader as a source of meaning.

D. It treats the text as self sufficient.

E, It appreciates the texts that are historical.

Choose the correct answer from the options given below;
1.A and B enly
2. A and Conly
3.A Band Conly
4.8, D and Eanly

[Question ID = 59][Question Description = 159_30_ENG_0CT22_S2_Q59]

60)

1 [Option ID = 233]
2 [Option ID = 234]
3 [Option ID = 235]
4 [Option ID = 236]

Which of the following is applicable to "New Criticism”?

A, It draws considerably from the works of 1. A, Richards and the critical essaysof T.5, Eliot.
B, Some of its concepis are pre-empiad by F.R. Leavis.

C. It distinguishes between literary and scientific usage of language.

D. It encourages an extensive exploration of the contexiual and autobiographical background
of a literary production.

E, it vauches for a historical analysis of a text.

Choose the correct answer from the options given below;
1.4, Band Conly
2. B, E and D only
3. A, Cand Danly
4.B and D only

[Question ID = 60][Question Description = 160_30_ENG_0CT22_S2_Q60]

A wnN =

1 [Option ID = 237]
2 [Option ID = 238]
3 [Option ID = 239]
4 [Option ID = 240]



1) Which of the following are representative texts of "Gynoeriticism"?

A, Patricial Meyer Spacks' The Female Imagination

B. Mary Ellman's Thinking About Women

C. Sandra Gitbert and Susan Gubar's The MadWoman in the Attic
D. Ellen Moer's Literary Women

E, Kate Millett's Sexual Politics

Cheose the correct answer from the options given below;
1.A and B enly
2.A Band Conly
3.8, D and E only
4,7 Cand Donly

[Question ID = 61][Question Description = 161_30_ENG_0CT22_S2_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

62) Which of the following statements are true about Ethnegraphic:Research Method?
A. It enables the exploration of the consumption of literature within defined social and
historical settings.

B. Janice A. Radway's Reading the Romance (1984) is-one of the first examples of the use of
ethnographic research methodolagy.

C. It is percieved as an act of uncovering an objective reality,

D. Reading National Geographic (1993) by Catherine A. Lutz and Jane L. Collins makes effective
use of ethnographic:research method to find out the role of the magazine National Geegraphic
in moulding Americans awareness of the world beyond the United States,

E. It focuses mare on objective data thansubjective interpretation of the materials.

Choose the correct answer fram the options given below;
1.4, B and Eonly
2. 4 and Conly
3.4 Band Conly
4.4 B Cand Donly

[Question ID = 62][Question Description = 162_30_ENG_0OCT22_S52_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



63 ; ; 2.0 . : . i
) The concept of " eugenics” finds its illustration predeminantly m the writings of ;

A, John Osbome

B. George Bernad Shaw
C. Eugene O'Neil

D. Harold Pinter

E, Arthur Miller

Choose the correct answer from the options given below:,
1.4 and B only
2. A and C only
3.Band Conly
4. D and E only

[Question ID = 63][Question Description = 163_30_ENG_0OCT22_S2_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

64) Which of the following are correct;

A, Raddy Dayle - The Barrytown friclogy

B. Abraham Stoker - Confessions of an Irish Rebel
C. C, S. Lewis - The Chronicles of Narnia

D. Brendan Behan - Dracule

E. Eoin Colfer - Artemis Fowl

Choose the correct answer from the options given below;
1.4, Cand Eonly
2.A BandDonly
3. A Cand Donly
4. C, D and E only

[Question ID = 64][Question Description = 164_30_ENG_OCT22_S2_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]



63) Which among the following are true about the figures of speech?

A, Figures-based on sound - Paroncmasia

B. Figures based on construction - Zeugma

C. Figures based on Imagination - lrony

D. Figures based on Association - Chiasmus
E, Figures based on indirectness - Euphemism

Choose the correct answer from the options given below;
1.4, B and Eenly
2.A Band Conly
3.B, Cand D only
4.C, Dand Eanly

[Question ID = 65][Question Description = 165_30_ENG_0CT22_S2_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

66) Which of the following authors have been correctly matched with their works?

A. Malcom Bradbury - The History of Man
B. William Golding - Rites of Passage

C. Seamus Heaney - Darkness visible

D. Brian Friel - Dancing at Lughnasa

E. Molly Keane - The Norman Conquests

Choose the correct answer from the options given below;
1.4, B and Eenly
2.B, Cand Eonly
3.C, Dand Eonly
4. A BandDonly

[Question ID = 66][Question Description = 166_30_ENG_0CT22_S2_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]



87)  atch List I with List 1l

List | List Il
A Karl Marx l. Madness and civilization
B, Levi-Strauss |||, Being anid Nothingness

C. Michel Feucauitilll. The German ldeolagy

D. Jean Paul Sartre|lV. The Elementary Structures-of Kinship

Cheose the correct answer from the options given below:
TA-N,B-ILC~|D-IV
2A-IV,B-II,C-1,D-1l
3A-ILB=1LC-1,D-1V
4A-LB-1,C-1ILD- IV

[Question ID = 67][Question Description = 167_30_ENG_0CT22_S2_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

68)  \iatch List I with List 1
List | List I
A, Cornelia Sorabji I. Between the Twilights
B. Krupabai Satthianadhan|ll. The Hindu Wife
C. Raj Lakshmi Debi Ill. Nector in a Sieve
D. Kamala Markandaya  |IV. Saguna, A Story of Native Christian Life

Cheose the correct answer from the options given below:
TA-N,B=ILC=IV, D=1
2A-IV,B-ILC-,D=1I
3A-ILB=1LC-1,D- 1V
4. A-1LB-IV,C-IL, D=1

[Question ID = 68][Question Description = 168_30_ENG_0CT22_S2_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]




69)  atch List I with List 1l

List | List 11

A, Doll Comman |l Twelfth Night

B. Malvolic 1. The Alchemist

C. Mortimer I, The Duchess of Malfi
D. Bosola IV. Edward I

Cheose the correct answer from the options given below:
T.A-LB-IV, C-Ill, D=1l
2A-ILB=1,C-1V, D=1l
3.A-IV,B-II,C-1l,D=-]I
4. A-1,B-1V,C-1,D-1l

[Question ID = 69][Question Description = 169_30_ENG_0CT22_S2_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

70 Match List 1 with List 1
List | List Il
A, “The Lion's Skin” |. Washingten lrving
B. "The Man who liked Dickens”  |ILW, Somerset Maugham
C. "Rip Van Winkle" \I. Stephen Crane
D. “The Bride comes to Yellow Sky"|IV. Evelyn Waugh

Cheose the correct answer from the options given below:
T.A-1LB-1l,C-1V,D=1l
2A-1L,B-IV,C-1,D-]l
3A-ILB=-IV,C-,D=1lI
4. A-IV,B-I,C-IIl,D-1l

[Question ID = 70][Question Description = 170_30_ENG_0CT22_S2_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]



") Match List | with List 11

List | List 1l
A, Stephen Spender|l. Cargoses
B. W.H. Auden Il. Consider

C. John Masefield  |ill, Adlestrop
D. Edward Thomas |IV. The Pylons

Cheose the correct answer from the options given below:
TA-LB-1l,C-0I,D-1V
2A-IV,B-ILC-,D=1I
3A-ILB-1,C-IV,D=1lI
4. A-1,B-1V,C-1,D-1l

[Question ID = 71][Question Description = 171_30_ENG_0CT22_S2_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

72)  \atch List | with List II

List | List I

A, “Bricolage " |I. Martin Heidegger

B. "Dasein” I, Sigmund Freud

C. "Parapraxes’|lll. Levi- Strauss

D. "Polyphony”|IV. Mikhail Bakhtin
Cheose the correct answer from the options given below:
T.A-IV,B=1,C-Il, D=1l

2ZA-1LB-LC-ILD-IV

3A-LB-I,C-lILD- IV

4 4-1ILB-1,C-1,D-IV

[Question ID = 72][Question Description = 172_30_ENG_0CT22_S2_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]



73)  Match List | with List 11

List |

List 1l

A, Perumal Murugan

I. Adivasi Will Not Dance:

B, Hansda Sowvendra Shekhar

Il. The Weave of My Life

C. Baby Kamble

|Il. One Part Woman

O Urmila Pawar

V. The Prisons \We Broks

Cheose the correct answer from the options given below:

TA-LB-1l,C-0I,D-1IV
2A-MLB-1,C-1V, D=1l
S.A-ILB-1LC-1,D-1V
4A-VB-ILC-1I,D~=I

[Question ID = 73][Question Description = 173_30_ENG_0CT22_S2_Q73]

1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

74) " \Match List | with List 11

List |

List i

A, Siddhant Dhanvant Shanghvi/l. Almost Single

B, Advaita Kala

II. Lave Over Coffes

C. Amrit Shetty

Ill. The Zoya factor

D. Anuja Chauhan

IV. The Lost flamingees of Bombay

Cheose the correct answer from the options given below:

TA-IV,B-1I,C-1l,D=]
2A-1,B-1,C-,D-1V
S5.A-IVB=1C-1I, D=1
4A-IVB-1,C-1, D=1

[Question ID = 74][Question Description = 174_30_ENG_O0CT22_S2_Q74]

1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]




73) " Match List | with List I

List | List I
\A. The Emprie Writes Back |l. 1980
B. Natien and Narration  |Il. 1993

C. Culture and Imperialism |I1.1389
D. The Twice Born Fiction  |IV. 1971

Cheose the correct answer from the options given below:
TA-LB-1l,C-0I,D-1IV
2A-,B-1,C-1,D-1V
3.A-IV,B-I,C-1l,D=-]I
4 A-1LB=-1LC-1,D- 1V

[Question ID = 75][Question Description = 175_30_ENG_0CT22_S2_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

78) " \atch List | with List 11
List | List 1I
A, "There is no art to find mind’s construction in the face”.|l. Hamlet
B, "Time out of jomt", Il Richard 1
C. "The betier part of valour is discretion”, . Macheth
D. “My Kingdom for a horse”. IV Twelfth Night

Cheose the correct answer from the options given below:
T.A-LB-IV, C-I, D=1l
2A-1L,B=-1,C-1V,D-]I
3.A-IV,B-I,C-1l,D=]I
4. A-1LB=-LC-1IV, D=

[Question ID = 76][Question Description = 176_30_ENG_0CT22_S2_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]



7 Identify the comrect one from the following :

A. Bharti Mukherjee's novels display split in the diasporic subjects.

B. Rohintan Mistry belongs to the community of Parsies that fled to India from Persia to escape

Islamic persecution.

C. Sujata Bhat recalls home as a nostalgic memory and lorgs intensely for it
D.Farrukh Dhondy connects Delhi and New York to discuss the diasporic experiences,
E, Sharat Chandra in his poem, "Ir-the Third Country,” wishes to die in India

Cheoose the correct answer fram the options given below:
1.4, Band D only
2.A Band Conly
3.A Dand Eanly
4.8, Cand E only

[Question ID = 77][Question Description = 177_30_ENG_0CT22_S2_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

78) " Match List I with List I
List | List Il
A, Acharnians ||. Gevernment by wemen
B, Clouds Il, Attack on parties invalved in war
C. Lysistrata ||l Criticism of the new ‘spirit of philosophical inguiry’
D. Wasps IV. An attack on demogogues

Cheose the correct answer from the options given below:
T.A-LB-1I,C-1,D-IV
2A-ILB=-IV,C-,D=1I
3A-B-1,C-1V,D-1I
4 A-1LB=-1LC-1,D- 1V

[Question ID = 78][Question Description = 178_30_ENG_0CT22_S2_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]



79) Whe among the following refers to “high sericusness” as a quality of a great poet and guotes

John Milton to prove the same?
A.T.S. Eliot

B. Ezra Pound

C. Matthew Amold

D. . A. Richards:

E. G. M. Hopkins-

Choose the correct answer from the options given below;
1.A and B enly
2.B and Conly
3.Dand E only
4. C only

[Question ID = 79][Question Description = 179_30_ENG_0CT22_S2_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

80) Find the chrenolegical order of publication of the given works:

A, Mythologies

B. Of Grammatology

C. Culture and Society

D. Blindness and Insight
E. The Location of Culture

Choose the correct answer from the options given below
1.ABCDE
2ACEDE
3.D,B.CAE
4B CDAE

[Question ID = 80][Question Description = 180_30_ENG_0CT22_S2_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]



81 :
) Given below are two statements:

Statement I: [ My Remembered Village (1976), M, N. Sriniivas highlights the ethnographical
details of a village, Rampura, near Mysore.

Statement Il: It also emphasises on the importance of economic freedom of the masses
required for their overall uplifiment.

In light of the above statements, choose the most appropriate answerfrom the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statemerit || are incorrect

3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

[Question ID = 81][Question Description = 181_30_ENG_0CT22_S2_Q81]
1 [Option ID = 321]
2 [Option ID = 322]
3 [Option ID = 323]
4 [Option ID = 324]

N wnN -

82 -
) Given below are two statements:

Statement I: The termy "Negative Capability” was coined by John Keats,

Statement Il: While analysing the term "Dissociation of sensibility”, T. S. Eliot proclaims that
Hamlet is an artistic failure.

In light of the above statements, choose the correct answer from the options given below
1. Both Statement | and Statement Il are true
2. Both Statement | and Statemnent 1l are false
3. Statement | is true but Statement |l isfalse
4, Statement | is false but Statement [ is true

[Question ID = 82][Question Description = 182_30_ENG_0OCT22_S52_Q82]
1 [Option ID = 325]
2 [Option ID = 326]
3 [Option ID = 327]
4 [Option ID = 328]

AW N =

83) Given below are two statements:

Statement |: The theatre was at a greater popularity in Eighteenth century England.
Statement II: Theatre had court patronage in and around London.

In light of the above statements, choose the correct answer from the options given beloew
. Beth Statement | and Staternent Il are true

==l

2, Bath Statement | and Statement |l are false
3, Statement | is true but Statement |l is-false
4. Statement | is false but Statemenit |l is true

[Question ID = 83][Question Description = 183_30_ENG_OCT22_52_Q83]
1. 1 [Option ID = 329]



2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

84)

Given below are two statements:

Statement |: According to Michel Foucault, the French Revolution created grounds for the
birth of 'the Clinic..

Statement |I: Foucault mentions that the doctors started caring for the body of the patients the

way priests:cared for the soul of the sinners,

I light of the above statements, thoose the correct answer from the options given belew
1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is-false
4. Statement | is false but Statement [l is true

[Question ID = 84][Question Description = 184_30_ENG_O0CT22_S2_Q84]

A wnN -

85)

1 [Option ID = 333]
2 [Option ID = 334]
3 [Option ID = 335]
4 [Option ID = 336]

Given below are two statements:

Statement |: The best poetry will be found to have a power of forming, ststaining and

delighting us, as nething else can,

Statement |I: No man has ever been a great poet without being, at the same time, a great

oritic.

In light of the above statements, choose the correct answer from the options given below
1. Both Statement | and Statement Il are true
2. Both Statement | and Statemenit 1l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

[Question ID = 85][Question Description = 185_30_ENG_0OCT22_52_Q85]

AN wN -

1 [Option ID = 337]
2 [Option ID = 338]
3 [Option ID = 339]
4 [Option ID = 340]



86)

Given below are two statements:

Statement |: Roland Barthes believes that the author is "the epitome and culmination of
capitalist ideclogy”.

Statement II: Walter Benjamin, in his The Storyteller, observes that every real story has

something useful in it.

In light of the above statements, choose the correct answer from the options given beloew
1. Both Statement | and Statemenit Il are true
2. Baoth Statement | and Statement | are false
3. Statement | is true but Statement || is-false
4. Statement | is false but Statement [l is true

[Question ID = 86][Question Description = 186_30_ENG_OCT22_52_Q86]

AN wnN -

87)

1 [Option ID = 341]
2 [Option ID = 342]
3 [Option ID = 343]
4 [Option ID = 344]

Given below are two statements:

Statement |: Jerome K. Jerome's Three Men in a Boat (1889) is humorous and journalistic in

form.
Statement ll: It is about three young men and their dog on a holiday.

It light of the above statements, choose the correct answer from the options given belew
1. Both Statement | and Statemerit Il are true
2. Both Statement | and Statemerit |l are false
3. Statement | is true but Statement Il is-false
4, Statement | is false but Statement [l is true

[Question ID = 87][Question Description = 187_30_ENG_0OCT22_S2_Q87]

A wnN =

88)

1 [Option ID = 345]
2 [Option ID = 346]
3 [Option ID = 347]
4 [Option ID = 348]

Given below are two statements:

Statement |: The Indian English novelists witnessed a warm recaption of theirwritings in
Europe, and they proliferated well in India during the 1930's and 1940's.

Statement II: The two world wars added an overall sense of gloom and civilisational crisis

across the globe, especially in Europe,

In light of the above statements, choose the correct answer from the options given below
1. Both Statement | and Statemenit |l are true
2. Bath Statement | and Statement | are false
3. Statement | is true but Statement || is-false
4. Statement | is false but Statement [l is true



[Question ID = 88][Question Description = 188_30_ENG_0CT22_S2_Q88]
1 [Option ID = 349]
2 [Option ID = 350]
3 [Option ID = 351]
4 [Option ID = 352]

A wnN -

89 -
) Given below are two statements:

Statement I: Dr. Johnson had an inclination toward the Tory political ideclogy.
Statement ll: Dr. Johnson strongly believed in transcendental scepticism.

It light of the above statements, choose the correct answer from the options given belew
1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is:false
4, Statement | is false but Statement |l is true

[Question ID = 89][Question Description = 189_30_ENG_0OCT22_S52_Q89]
1 [Option ID = 353]
2 [Option ID = 354]
3 [Option ID = 355]
4 [Option ID = 356]

A wnN =

20) Given below are two statements:
Statement |: Derrida mentions that an aesthetic discourse always involves values and interests,
independent from “a pure and neutral aesthetic realm”.

Statement II: Derrida believed that the outside influence in assessment of aesthetics always
enters as and when philosophers and historians point out the element of "truth”.

In light of the above statements, choose the correct answer from the options given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

[Question ID = 90][Question Description = 190_30_ENG_0CT22_S2_Q90]
1 [Option ID = 357]
2 [Option ID = 358]
3 [Option ID = 359]
4 [Option ID = 360]

N wnN -

Topic:- 30_SH1_PARTB_S2



1)

Read the following passage and answer the questions that follow:-

Such is the matter of imaginative or artistic literature - this transcript, not of mere fact, but of
fact in its infinite variety, as modified by human preference in all its infinitely varied forms. ft will
be goed literary art not because it is brilliant or seber, or rich, of impulsive, ar severe, but just in
proportion as its representation of that sense, that soul fact, is true, verse being only one
department of such |iterature, and imaginative prose, it may be thought, being the specdial art of
the modern world. That imaginative prose should be the special and opportune art of the
modern world results frem two important facts about the latter; first, the chaotic variety and
complexity of its interests, making the intellectual issue, the really master currents of the present
time incalculable- a condition of mind little susceptible of the restraint proper to verse form, so
that the most characteristic verse of the nineteenth century has been lawless verse; and
secondly, an all pervading naturalism, a curiosity abouth everything whatever as-it really is,
involving a certain humility of attitude, cognate to what must, after all , be the less ambitious
form of literature. And prose thus asserting itself as the special and privileged artistic faculty of
the present day, will be, however critics may try to narrow its scope, as varied in itz excellence as
humanity itself reflecting en the facis of its latest experience- an instrument of many stops,
meditative, observant, descriptive, eloguent, analytic, plaintive, fervid.

In the above passage, Walter Horalio Pater's statement, "Imaginative prose should be
special” implies:

1. abstract language

2. environmental crisis

3. intellectual complexities
4. metaphaorical functions

[Question ID = 91][Question Description = 191_30_ENG_OCT22_S52_Q91]

A wN =

1 [Option ID = 361]
2 [Option ID = 362]
3 [Option ID = 363]
4 [Option ID = 364]



2)

Read the following passage and answer the questions that follow:-

Such is the matter of imaginative or artistic literature - this transcript, not of mere fact, but of
fact in its infinite variety, as modified by human preference in all its infinitely varied forms. ft will
be goed literary art not because it is brilliant or seber, or rich, of impulsive, ar severe, but just in
proportion as its representation of that sense, that soul fact, is true, verse being only one
department of such |iterature, and imaginative prose, it may be thought, being the specdial art of
the modern world. That imaginative prose should be the special and opportune art of the
modern world results frem two important facts about the latter; first, the chaotic variety and
complexity of its interests, making the intellectual issue, the really master currents of the present
time incalculable- a condition of mind little susceptible of the restraint proper to verse form, so
that the most characteristic verse of the nineteenth century has been lawless verse; and
secondly, an all pervading naturalism, a curiosity abouth everything whatever as-it really is,
involving a certain humility of attitude, cognate to what must, after all , be the less ambitious
form of literature. And prose thus asserting itself as the special and privileged artistic faculty of
the present day, will be, however critics may try to narrow its scope, as varied in itz excellence as
humanity itself reflecting en the facis of its latest experience- an instrument of many stops,
meditative, observant, descriptive, eloguent, analytic, plaintive, fervid.

Which of these expressions closely represent the meaning of "fervid'?

1. feeling nostalgic

2. portraying feelings that are too strong
3. riding strong feelings

4, expressing humility of attitude

[Question ID = 92][Question Description = 192_30_ENG_0OCT22_52_Q92]

AN wN -

3)

1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]

Read the following passage and answer the questions that follow:-

Such is the matter of imaginative or artistic literature - this transcript, not of mere fact, but of
fact in its infinite variety, as medified by human preference in all its infinitely varied forms. it will
be goed literary art not because it is brilliant or seber, or rich, or impulsive, or severe, but just in
proportion as its representation «of that sense, that soul fact, is true, verse being only one
department of such literature, and imaginative prose, it may be thought, being the special art of
the modern world, That imaginative prose should be the special and opportune art of the
modern world results frem two important facts about the latter; first, the chaotic variety and
complexity of its interests, making the intellectual issue, the really master currents of the present
time incalculable- a condition of mind little susceptible of the restraint properto verse form, so
that the most characteristic verse of the nineteenth century has been lawless verse; and
secondly, an all pervading naturalism, a curiosity abouth everything whatever as-it really is,
involving a certain humility of attitude, cognate to what must, after all , be the less ambitious
form of literature. And prose thus asserting itself as the special and privileged artistic faculty of
the present day, will be, however critics may try to narrow its scope, as varied in its excellence as
humanity itself reflecting en the facts of its latest experience- an instrument of many stops,
meditative, observant, descriptive, elogquent, analytic, plaintive, fervid.



Artistic literature is the representation of ;

1. facts enhanced by creative illusions

2. facts transformed by human predilection in an array of forms:
3. facts arranged by political reflection

4. complex and natural instincts of a poet

[Question ID = 93][Question Description = 193_30_ENG_OCT22_S52_Q93]

A w N =

4)

1 [Option ID = 369]
2 [Option ID = 370]
3 [Option ID = 371]
4 [Option ID = 372]

Read the following passage and answer the questions that follow:-

Such is the matter of imaginative or artistic literature - this transcript, not of mere fact, but of
fact in its infinite variety, as modified by human preference in all its infinitely varied forms. ft will
be goed literary art not because it is brilliant or seber, or rich, or impulsive, or severe, but just in
proportion as its representation «of that sense, that soul fact, is true, verse being only one
department of such literature, and imaginative prose, it may be thought, being the special art of
the modern world. That imaginative prose should be the special and opportune art of the
modern world results fram two important facts about the latter; first, the chaotic varety and
complexity of its interests, making the intellectual issue, the really master currents of the present
time incalculable- a condition of mind little susceptible of the restraint properto verse form, so
that the most characteristic verse of the nineteenth century has been lawless verse; and
secondly, an all pervading naturalism, a curiosity abouth everything whatever as-it really is,
involving a certain humility of attitude, cognate to what must, after all , be the less ambitious
form of literature. And prose thus asserting itself as the special and privileged artistic faculty of
the present day, will be, however critics may try to narrow its scope, as varied in its excellence as
humapity itself reflecting on the facts of its latest experience- an instrument of many stops,
meditative, observant, descriptive, eloquent, analytic, plaintive, fervid.

Which of the following is closest to what the author means by "less ambitious form of
literature"?

1. literature repensive to hightened state of human perception
2, imaginative literature

3. artistic literature

4, poetry without form and diction

[Question ID = 94][Question Description = 194_30_ENG_OCT22_S52_Q9%4]

1
2
3.
4

. 1 [Option ID = 373]
. 2 [Option ID = 374]
3 [Option ID = 375]
. 4 [Option ID = 376]



5)

Read the following passage and answer the questions that follow:-

Such is the matter of imaginative or artistic literature - this transcript, not of mere fact, but of
fact in its infinite variety, as medified by human preference in all its infinitely varied forms. ft will
be goed literary art not because it is brilliant or seber, or rich, of impulsive, or severe, but justin
proportion as its representation of that sense, that soul fact, is true, verse being only one
department of such |iterature, and imaginative prose, it may be thought, being the specdial art of
the modern world. That imaginative prose should be the special and opportune art of the
modern world results frem two important facts about the latter; first, the chaotic variety and
complexity of its interests, making the intellectual issue, the really master currents of the present
time incalculable- a condition of mind little susceptible of the restraint proper to verse form, so
that the most characteristic verse of the nineteenth century has been lawless verse; and
secondly, an all pervading naturalism, a curiosity abouth everything whatever as-it really is,
involving a certain humility of attitude, cognate to what must, after all , be the less ambitious
form of literature. And prose thus asserting itself as the special and privileged artistic faculty of
the present day, will be, however critics may try to narrow its scope, as varied in its excellence as
humapity itself reflecting on the facis of its latest experience- an instrument of many stops,
meditative, observant, descriptive, eloguent, analytic, plaintive, fervid.

According to the author, prose should be :

1. Socie-Political

2. Subjective

3. as varied as human experience
4, asvisual as other art forms

[Question ID = 95][Question Description = 195_30_ENG_0CT22_S2_Q95]

A wpN =

1 [Option ID = 377]
2 [Option ID = 378]
3 [Option ID = 379]
4 [Option ID = 380]

Topic:- 30_SH1_PARTC_S2



1)

Read the following poem and answer the questions that follow:
SMOKE
Light - winged Smoke! lcarian bird,
Melting thy pinions in thy upward flight;
Lark without song, and the messenger of dawn,
Circling above the hamlets as thy nest;

Or else, departing dream, and shadowy form
Of midnight vision, gathering up thy skirts;
By night star-veiling, and by day
Darkening the light and blotting out the'sun;
Go thou, my incense, upward from this hearth;,
And ask the gods to pardon this clear flame,

Henry Dawvid Thoreau

The poem deals with
1. fire inthe forest
2. fire inthe city
3. fire on the ship
4. fire inthe village

[Question ID = 96][Question Description = 196_30_ENG_OCT22_S2_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]



2)
Read the following poem and answer the questions that follow:

SMOKE
Light - winged Smoke! lcarian bird,
Melting thy pinions in thy upward flight;
Lark without song, and the messenger of dawn,
Circling above the hamlets as thy nest;

Or else, departing dream, and shadowy form
Of midnight vision, gathering up thy skirts;
By night star-veiling, and by day
Darkening the light and blotting out the'sun;
Go thou, my incense, upward from this hearth;,
And ask the gods to pardon this clear flame,

Henry Dawvid Thoreau

Which figure of speech is implicit in "light winged smoke!"7?
1. Apostrophe
2, Simile
5. Oxymoron
4. Hyperbole

[Question ID = 97][Question Description = 197_30_ENG_0OCT22_S52_Q97]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]



3)
Read the following poem and answer the questions that follow:

SMOKE
Light - winged Smoke! lcarian bird,
Melting thy pinions in thy upward flight;
Lark without song, and the messenger of dawn,
Circling above the hamlets as thy nest;

Or else, departing dream, and shadowy form
Of midnight vision, gathering up thy skirts;
By night star-veiling, and by day
Darkening the light and blotting out the'sun;
Go thou, my incense, upward from this hearth;,
And ask the gods to pardon this clear flame,

Henry Dawvid Thoreau

In the first line of the poem, "learian bird” connotes
1. short of ambition
2. pride
3. destruction
4. waxen wirng

[Question ID = 98][Question Description = 198_30_ENG_0OCT22_S2_Q98]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]



4)
Read the following poem and answer the questions that follow:

SMOKE
Light - winged Smoke! lcarian bird,
Melting thy pinions in thy upward flight;
Lark without song, and the messenger of dawn,
Circling above the hamlets as thy nest;

Or else, departing dream, and shadowy form
Of midnight vision, gathering up thy skirts;
By night star-veiling, and by day
Darkening the light and blotting out the'sun;
Go thou, my incense, upward from this hearth;,
And ask the gods to pardon this clear flame,

Henry Dawvid Thoreau

The word "Lark” in the third line means
1. laugh
2. escape
3. giggle
4. skylark

[Question ID = 99][Question Description = 199_30_ENG_0OCT22_52_Q99]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]



5)
Read the following poem and answer the questions that follow:

SMOKE
Light - winged Smoke! lcarian bird,
Melting thy pinions in thy upward flight;
Lark without song, and the messenger of dawn,
Circling above the hamlets as thy nest;

Or else, departing dream, and shadowy form
Of midnight vision, gathering up thy skirts;
By night star-veiling, and by day
Darkening the light and blotting out the'sun;
Go thou, my incense, upward from this hearth;,
And ask the gods to pardon this clear flame,

Henry Dawvid Thoreau

Why does the poet seek pardon from the Gods?
1. The singing birds disrupt the peace of the forest.
2. The earth is full of peace and tranquility,
3. The speaker admits sin of setting the fire.
4. The narrator is over enthusiastic,

[Question ID = 100][Question Description = 200_30_ENG_0CT22_S2_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

Topic:- GP_SH1_S2_A



1) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
9% Distribution of Production % Profit
Company Ratio
of Bicycles
M L | M
A 20% 13 7 [259%i32%
B 14 % 5 |28%(30%
& 22 % 5 20924 %
D 13% T |359%25%
E 10% 3 24%R1%
F 21 % 11 10 (309%20%

Profit earned by Company A on model L (in X crore) is

1.0.244
2.0224
3.0208
4, 0248

Rufifea @ifte A-F 88 sufa g Rl & af B afsdt @ R wm & T fRu sl
(%), ATST L ® HISH M & JUIGA ST U, #R 37 &l Alsal o= Sl o &1 ufwd (o) 2 81 88
HURAT BT HT ITGA TG L 64 TS & |

HUH-ATY AR IS ST T
YT HTETe JeTe Taavr % S S e Y

L M L™
A 20 % 13 7 25 %32 %
B 14% 9 5 28 %(30 %
c 2% A 5 20 %[24 %
D 13 9% 6 7 359625 %
E [10% 2 3 24 %(21 %
FooR1% 1 10 30%20%

HUHT A GRT Higa L WR sifefd amy @<rs 2 ) e e 2

1.0.244
2.0224
3.0208
4.0.248



[Question ID = 106][Question Description = 101_0_GP18_SEP22_S2_Q01]

1
2
3.
4

2) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is 6.4

. 1 [Option ID = 421]
. 2 [Option ID = 422]
3 [Option ID = 423]
. 4 [Option ID = 424]

crore.

Company-wise Bicycle Production and Profit

Production
% Distribution of Production % Profit
Company Ratio
of Bicycles
L M L M
A 209% 13 7 |25%i32 %
B 14 % ] 5 |28%(30%
& 22 % 5 20 %24 %
D 13% 7 |35 %25 %
E 10% 3 24 %121 %
F 21 % 11 10 (309%20%

Profit earned by Companies B and C together on Model M (in X crore) is

1.024%
2.0.2488
3. 0.2466
4, 0.2844



Fafafes aitieT a-F 38 SuRT gRIORREE & ot iF #isal @ IR v & I Bao &1 ulieg
(%), ATST L B HISHT M & JAIGA &1 U, IR 57 &l Hisa o= (e o &1 ufaera o) 39 81 88
HURT &1 HA TG T T 64 TUS & |

el e S e R o | R
mﬁlﬂm&ﬁmm% R
L M L ™M
rz 20 % 13 7 25 %32 %
8 [14% 9 5 28 %30 %
c  22% 6 5 20 %24 %
D 3% 6 7 35 9%/25 %
£ 0% 2 3 24 %21 %
Foo1% 11 o 30%20%
B 3R ¢ UG ERIASH MR ARlT Ha o @IS 39) Aemr fbane 2
1.0.2496
2.02488
3.0.2466
4,0.2844

[Question ID = 107][Question Description = 102_0_GP18_SEP22_S2_Q02]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]



3) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
% Distribution of Production % Profit
Company Ratio
of Bicycles
M L M
A 20 9% 13 7 25 %32 %
B 14 % 9 5 |[28%i30%
E 22 % 5 [20%i24%
D 13% 7 [359%25 %
E 109% 2 3 24 %121 %
F 21 % 11 10 |30 9%120%

The ratio of the cost of production of model L by Company D to that of model M by Company F is

1.4:5
2.3:5
3:5:¢7
4,1:2

Fafifed Tifie A-F 88 SURT s uRfbe & a1 fBE #isat @ IR M) & IO B a1 ulied
(%), ATST L B Hige M & IATGA &1 U, #R 39 &l Hisa o= S o &1 ufia (o) 2k 81 88
HUAT BT H ITGA TG L 64 DA B |

ueit-ar wrEfe gares iR ary
U e FeTe R g6 o e % T

L M L M
A 20 9% 13 7 25 %32 %
i 14 % 9 5 28 %30 %
C 22% ] 5 20 %24 %
O 13 % 3] 7 35 %25 %
E 10 % 2 3 24 %121 %
= 21 % 1 10 30 %20 %

D HUATGRIAISH L & FTeA ANTH &1 F HUAT R ATSH M BT JTa AFTd 9 $UTd Rrag 2

1.45
2.35
357
4.1:2



[Question ID = 108][Question Description = 103_0_GP18_SEP22_S2_Q03]
1 [Option ID = 429]
2 [Option ID = 430]
3 [Option ID = 431]
4 [Option ID = 432]

HwnN =

4) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
9 Distribution of Production % Profit
Company Ratio
of Bicycles

M L M
A 209% 13 7 25 9%i32 %
B 14 % 5 [28%30%
& 22 % 5 [209%24%
D 13 % 7 [359%25 %
E 10% 3 [24%121%
F 21 % 11 10 |30 %20 %

The difference between the profit earned by Company C on model L and by Company E on model M
(inT crore) is

1.0.7296
2.7.296
3.0.03648
4, 007296



Faffe Tl A-F 38 $uRT R uRhe & &t fim Algat L IR M) & IJaeT @B &1 ufd
(%), HIST L T ISt M & SHIGA B U, HR 37 &1 Aiea ux T o &1 ufowd o) 30T 81 88
HURT &1 o JTGA AT T 64 DUS & |

21 e | s S| 5 | R
m‘mmmm% sindls it ol o nd

L M L ™
A 20 % 13 7 25 %32 %
B 14 % 9 5 28 %30 %
C 22 % 6 ) 209%i24 %
D [13% 6 7 35 %25 %
13 10 % 2 3 24%21 %
| 21 % 11 10 30 %(20 %

HUAT ¢ GRIATEE L TR R T 3R AT £ GRTATSH MR TS &7 SiaR @71S 3 #) faan
g2

1.07296
2. 7296

3. 0.03648
4. 007296

[Question ID = 109][Question Description = 104_0_GP18_SEP22_S2_Q04]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



5) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
9% Distribution of Production % Profit
Company Ratio
of Bicycles
M L | M
A 20% 13 7 [259%i32%
B 14 % 5 |28%(30%
& 22 % 5 20924 %
D 13% T |359%25%
E 10% 3 24%R1%
F 21 % 11 10 (309%20%

The ratio of the profit earned on model L by Company B to that of model M by Company D is

1.36:25
26
378
4,.123:97

Frafafeg Tt a-F 38 SuRa g uEihe & a1 BE alset @ IR v & Iae B a1 ufied
(%), HISA L ¥ HIST M & JUTGH &1 S-UTd, 37N 39 a1 Afgat ur ififa o &1 uftwrd (s6) 22fdt 81 8%
HUAT B FA ITGA AT T 64 TUS & |

ke | s e R 5 s
Ut TR FaTe R g o e % T

L M L M
A 20 9% 13 7 25 9%(32 %
8 14 % 9 5 289%30 %
C 22 % B S5 20924 %
0o 13% 6 7 35 %25 %
'3 10 % 2 3 24 %121 %
F 21 % 11 10 30 %20 %

HUT B ERIATST L TR ARG A HTHYAT D gRIAGAM TR 3ifd O 8 iU e e 2

1.36:25
2,85
3.78
4.123:97



[Question ID = 110][Question Description = 105_0_GP18_SEP22_S2_Q05]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

Topic:- GP_SH1_S2_B

1)

Which of thie following represents learning as a six-level hierarchy in a cognitive domain?

1, Bloom's Taxenomy
2, S0OLO Taxonomy
3, Brigg's Taxonomy
4, Gagne's Taxgnomy

HERIRET # § & H-S OHHD 67 H B5-w1 4 UarmH & w9 A SEH S vaRid aede 7

1, 8 GG
2, Tl (SOLO) TR
3, g @ aiieem
4, TR BT G0

[Question ID = 111][Question Description = 106_0_GP18_SEP22_S2_Q06]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

2)
Which of the following models for curriculum evaluation considers three primary sources of

eurriculum namely students, sodiety and subject matter reflecting the philosophy of education and
paychiology of learning,

1, CIPP miodal

2, Stake's model
3, Tyler's model

4, Seriven's model

gTEEd | gedie & FERiEd 1§ 4 g Aie & SuR UBeerd ] & o W ie | 9 T, iy
e g a7 oo o, <11 f2ra & &2 SR S e & g1aeH S Wi lEeT e & 7

1 e gt AisH

2 B @I HIed

3 ERTR @1 H1ed
4, TG BT HIST

[Question ID = 112][Question Description = 107_0_GP18_SEP22_S2_Q07]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]



3)
Which of thie following must be ensured by a 217 Ceritury Higher Education teacher?

A, Preparing students towards Higher Order Thinking Skills
B, Placements of studerits

C, Using digital resources

D, Interaction with bright students only

E. Iriter-disciplimary approach

Choose the correct answer from the options given below

1.4, Cand Eonly
2.4 Cand D only
3.4 C D and Eonly
4 4B CandDanly

FofiET # 9 @H-1H 4 21 9 g6l & Jea? [Ba g gR1 gH R e ST 91e 7
A, [T @7 AR S o F=e $ & T SR S

B, et T FgTem

C. [ERree TmrET STugh

D. gt AT gl & Ty uRRR i

E, 3{e¥-fasaTd QUi

e B e feed! # O wE SR

1. HAAA CHRE
2, AT A, CHR D
3. HaAA CDIRE
4, HIAA B CHRD

[Question ID = 113][Question Description = 108_0_GP18_SEP22_S2_Q08]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]



4)
Given below are two statermnents

Statement I: Laarning Management Syster (LMS) is used to provide a wirtual enviraniment for
teachers and students,

Statement |l: LIS can be used for blended learning as well as for anling learning,
Imlight of the abowve statements, choose the most appropriate answer from the opticns given below

1, Both Staterment | and Statement!l are corract

2, Both Statement | and Statemeant!are incorract

3, Staterment | iz corract but Statement || is incorract
4 Staterment | isincorrect but Statement || s correct

T e HyT Ru g
HYT - | HETT WU WO (057 OF ) &1 U1 e TR et & O aeeret aT e wa
HIH @ 8 fBaTaT e |

WU - || T O T HTHI T T sifEm qu7 sHems S & B S g dTe |
I HYA! & ellE H FfiEd Feedl 1 O uet SR gy

1, Y AR S TR |
2, Y | AN BT IR
3 WY UE R, g myT | TEa e |
4, Y | T B, i YT | T8 B

[Question ID = 114][Question Description = 109_0_GP18_SEP22_S2_Q09]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

3)
Wbich of thie following types of assessmentis-done for giving grades/marksfcredits to the students?

1, Forrmative
2, Integrative
3 Diagnostic
4, Summative

[qeniat & vessiw/diee o & [ Fafiiad 9 € by UaHR &1 5ol [BaTam 6 7
1, FHITRHS

2, HHHOTTHE

4, Yo HE

[Question ID = 115][Question Description = 110_0_GP18_SEP22_S2_Q10]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]



6)
Aute-ethinography s an approach that analyses

1, Persanal experiences
2, Community issues
3, Local tribes

4, Cultural digtance

W-AFg 90 Udr SUFH &, W HERRed B T fGa@T Q% &l 7

1, T e wg

2, UHEIA® A5
3, B ST
4, Hepld® gl

[Question ID = 116][Question Description = 111_0_GP18_SEP22_S2_Q11]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

7)
Inresearch, middle range theoriesoperate ina

1, Widear domain

2, Limited domain

3, Flesable domain

4, Representative domain

AT I s Tad e o & 7

1 SIE &
2 i &
2, G &
4, U &

[Question ID = 117][Question Description = 112_0_GP18_SEP22_S2_Q12]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]



8)
Foor analysisin historical research s due to

A Impersonal interpretation

B, Emphiasis on objective assessment

C, Owver-generalisation

D, Over-simplification

E, MMon-identification of social context

Choose the correct answer from the options given below)

1.4 B and C onily
2. B, Cand Doonly
3. C DandEonly
4.4 Band Eonly

e Ty § S B T eRm g EeTe 2
A Fdgfeas sgren

B, TG FE Tl O 97

C, -G

D, BT Teim

E, g Yad sigeg@ 4 g[ T
i B e fwedt # ¥ wE SR A

| HAAA BFRC
2 BB, CHRD
3. HAAC, DIANE
4, HAA B HRE

[Question ID = 118][Question Description = 113_0_GP18_SEP22_S2_Q13]
1 [Option ID = 469]
2 [Option ID = 470]
3 [Option ID = 471]
4 [Option ID = 472]

A w N =

9)
Given below are two statermnents

Statement |: Forus group discussion is part of farmative research,
Statement |l: Formative research can be both qualitative and quantitative,
Imlight of the above staterments, choose the correct answer from the options given below

1, Both Statement | and Statement |l are true
2, Both Statement | and Staterment || are false
3, Staterment | 1z true but Statement || s falze
4, Statement | iz false but Statemment || s rue



HY - | IEH HHE == FH{HS WY @ S |

WY - || 1 TR =Y e R AR GH 6 gedT e |
It HYA! & IS H Fyfied Reedt 3 U gei SR g .

1 YA AR A Tele |
2 YT AW | E IR &
3 Y1 T e, g @y I Tea B |
4, | T, G HE | T ¢ |

[Question ID = 119][Question Description = 114_0_GP18_SEP22_S2_Q14]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

10)
hAatch List | with List 11
List | List 1|
Tasts ofD -
escription
Reliability a

A Test and re-test || Delivering a quastionnaire in two parts, separately, to a sample group.

Il Providing different wersions of a questionnare which are equivalent far
B Inter-rater '

respondents,
C. Parallel forms  |lll. The same test is.conducted by different peaple.
0. Split-hal f W, The same test, over a period of time, is repeated.

Choose the correct answer fram the optiens given below:

T A-LE-ILC-N,D- 1
2A-IB-ILE -1V, D
AN EB-C-L D
4 8- B~ D=



e - S - o gAfE B
T -l T I
ErRRIEnIG A CE e

A, Q&M SR|. U & & WET &) 9Y® ¥ © U OIEE @
SEISEAAL HETT

A— S UYEel @ [TF U UsH &l 9l

TGk & o/ Teg & |
C. MR By 11, o T G RT ST U eI 7 T ST g |
D, - Ui . T OHITE O U O3 S eI ET e |
i BT T @t B ¥ 9l SR g

T A-LEB-ILC-ll, D-I¥
2 A B-LC -1, D
3, A=l B -G € =1 D)
A A= EB-ILC=1, D=

[Question ID = 120][Question Description = 115_0_GP18_SEP22_S2_Q15]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

11)
Imcommunication, metaphors are considered in nature,

1, Precise

2, Imprecise

3, Mon-symbolic
4, Mon-reflective

YN H, T06 WHET FeHfET S U a9 a e ¢

1. URTE

2. ARG

3, IR udEE
4, TR- et

[Question ID = 121][Question Description = 116_0_GP18_SEP22_S2_Q16]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

12)
Homogeneity of opinlon ameong groupsof people is mostly caused by

1, Mass cormimunization

2, Intra-personal communication
3, Inter-personal communication
4, Abstraction in communication



T g & it 7 B umEgar AfE R Frefifed & sRu e e

1, 57 T

2, 3 G feRTH TUNT]
3, 3fdafae TV
4, GOSN H SIS

[Question ID = 122][Question Description = 117_0_GP18_SEP22_S2_Q17]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

13)
Which of the followirig are traditionial approaches to communication?

A, Machine-to-machine

B, Machine-to-man

C. Rhietorical

O, Semiotic

E. Phenomenalogical

Choose the correct answer fraom the opfions given below,

1.4 Band Conly
2.4 Drand E onily
3, B Cand Donly
4, C, Dand Eonly

YUy & Ry JUrE FEEEa e O g ¢
A FIE T 7 a@

B, WL ¥ 5 T

C. SABTRE

D. Wi li®

E, FeT A5 et

e BT T R O e SR A

1 HAAABIARC
2 HAAA D INE
3, HAAE, CHRD
4, A C, D HARE

[Question ID = 123][Question Description = 118_0_GP18_SEP22_S2_Q18]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



14)
Given below are two staterments

Statement |: Personal canversation is more effective than a broadeast spesih,

Statement Il: The factor of personalisation makes the radio & more effective mears of
communication than a newspaper,

Imlight of the abowve staternents, choose the correct answer from the options given below

1, Both Staterment | and Statement || are trug
2, Both Statement | and Staterment || are false
3, Staternent | iz true but Statemeant || s falze
4, Statement | is false but Statement |l iz true

JeaTHyT R e,
YT - | AT T TETRT HIN0T &1 e 3w U e e |

WY - || T feIaTE & HREG GHEN UF 61 AUET HSY] &1 TUNT &1 S THET T 991 & |
Juad HYAl & ellE H FyfiEd Feedl ¥ ggT R gy

1,547 | R 1 T T E
2, Y1 AN BT IR
3 YT TT B, [ Y 1| T B
4,9 | T B, [~ Y7 || T E |

[Question ID = 124][Question Description = 119_0_GP18_SEP22_S2_Q19]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

15)
hAatch List |with List 11
List | List Il
Type of Communication Description
A, Phatic | Decader becomas encoadear
B. Feedback I, Communication abaut communication
2 hWeta message I, Between equals
D Lateral communication I, To grest

Choose the correct answer from the options given below:

1 A-LEB-I,C-ID-l
2 A-IB-LE -1, D
= R [ = R o O |
4 8- B-LC=IL,D-I



T - Wi - O g S

] - e -

TN & UHR CEELLI

A, ARHETE R (FiEH) |. GeARIS Gedada I e
B. Wi I, FUS &5 & T T

. AR-Haw Her Buw) I, HaT & S5

D, g1 o v, SIFETET BT

e U T fAwmeat B ¥ 9l SR g

1A=L B=lLE - D=
2 8- E-ILE - D=
3 AL B-1C-1, 0=l
4 A=V B-|,C=IL, D=1l

[Question ID = 125][Question Description = 120_0_GP18_SEP22_S2_Q20]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

16)
Three numbers are in the ratio of 2:5:6 and thelrsum 5 663; Find the three numbers:

1,107,250, 308
2,102,250, 31
3,102,255, 308
4,112,250, 301

19 ST BT LT 25:6 & IR FAH PerlT 663 E S aH A BT 8 7

1,107,250, 306
2,102,250, 31
3,102,255, 306
4,172,250, 3M

[Question ID = 126][Question Description = 121_0_GP18_SEP22_S2_Q21]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

17)
There are 15 students in a dass. The average age of the students and the teacher of the dass iz 15

years. The average age of the teacher and the studerits 15 2 years more than that of students, What s
the age of the class teacher?

1.48
2,50
3.43
4,45



UG BETE 15 3FE | TET S SH AR D &1 NGd 374 15 9 & | SET 7 =0E &1 ad
BT ®1 S5 ST & Ay Sfi® & | HaTHUS: & L HETE 7

1. 489Y
2. 509N
32,4399
4, 4594

[Question ID = 127][Question Description = 122_0_GP18_SEP22_S2_Q22]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

18)
A shopkeeper professes tosell his'goods on cost price but uses 750 gm instead of 1 kg, What is his
gain in percentage?

1.33

2,353
3,303
4, 3333

UE P AGR T8 Valld HRATE & 98 Su-T §HH TrFa-Ied 07 BT a9aT ¢ | i 98 U e ae
& TR 750 T 81 101 & JHeE] arH-Hii=Id re 7

1.33
2,353
3303
4,33.33

[Question ID = 128][Question Description = 123_0_GP18_SEP22_S2_Q23]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

19)
The simple interest on & sum of money is 4/9 of the principal. What will be the annual rate of
interest and time (inyears), if both of these are numerically equal?

1,69 and 6 years
2,68 % and 6.8 years
3. al % and 5i YIS

3 2
4.6, % and 6, YTS.



e 2R O QTR ST e ST 49 B | B B aTie s §1 o IR §Hg anT & are i gf gl
@ HEHG HH GHA B 7

1.6% 4N 6T
2.6.8%3N 689%

3.5%9&3ﬁ? e%ﬁﬁ
4,62 % 3R ﬁ%?ﬂl‘f

3

[Question ID = 129][Question Description = 124_0_GP18_SEP22_S2_Q24]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

20)
Find thie wrang term in the series given below

5,010, 17, 24, 37, 50, 65

1.37
2,17
3,24
4,50

o P e o

AT e e Ua I 9IE 7
5,10, 17, 24, 37, 50, 65

1,37
2,17
3,24
4,50

[Question ID = 130][Question Description = 125_0_GP18_SEP22_S2_Q25]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

21)
Which of the following propositions is obwerse of and logically equivalent to "Some men are
honest"?

1. Sore men are dishonest.
2, Some men are not dishonest,
3, Momenarae dishonest,

4, Some dishonest people are not men,



fone R

BRI

1 ORI EAAE |

2. B YN SSHM A8 & |

2. W RN A "B & |
4, 5 SHM AN YRY TR |
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W H T HA U e UPY SR & B ukiad R aifthe €U ¥ gEqe & 7

[Question ID = 131][Question Description = 126_0_GP18_SEP22_S2_Q26]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

22)
Grver below are thwo staterments
Statement I: To obvert a propasition, we change ite quality and replace the predicate term with its
complement,
Statement Il Obversion is valid for any standard form categorical proposition,
I light of thie above statements, choose the correet answer from the options given below
1, Both Statement | and Statement|| are true
2, Bothy Statement | and Staterment || are false
3, Statement | iz true but Statement || is false
4, Statemmernt | iz false but Staterment || is rue
ElEE ARG

YT - | BH UD Wiagial & Wiadedd & o0 3HH TS GRa0T $3d & 97 949 0% &1 394 Q36
U WieyTud e & |

Ty - || ulded Frte e & ety ams 0 & e gy )
Iufa syl & s B P Ree B 8wt e g

1 HYA | AR Tele |
2 YT | R | E e &
3. Y| I &, g B 1| ST B |
4, WY | ST, (G HY | T8 |

[Question ID = 132][Question Description = 127_0_GP18_SEP22_S2_Q27]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

23)
Which logical informal fallacy iz committed in the following argument, "Mo one has proved that

global warmirig is actually occuring, so there isno reason to believe that itis actually occuring,'?

1, Begging the questian
2, Equivocation

3, Appeal to igniorarice

4, Hasty generalisation



FERARET A # ST a1idh® T IRS &y By 7197 8 - fdhdT 3 S HT T8t [T g [ wiee
I @ T19-) gied 81 @18, T90E 98 [y & G dls DRI A6 6 [ 95 9lead 814618 |"

1, ATHATHT BN

2, BT

3, 3§ DT Ve

4, fF=TRT gt

[Question ID = 133][Question Description = 128_0_GP18_SEP22_S2_Q28]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

24)
The argumerit, 'Sound iseternal, because it is produced’, isfallacious because:

1, Middle term is contradicted by another pramana (means of knowledge),

2, The middle term is too narrow,

3, Middle term itselFdisproves the originagl proposition and proves its contradictory,
4, The miner term 15 the locusof the middle term,

" YT 8, o1 98 SuTed B9l '- 59 4idd § ab-a ¥ & &lid

1, 3= WHT @ & TR G110 e S8 b =als |

2§ UG Afs dEii g |

3, 9 Ug S0+ oy Nivie uitsi & s g oeare o) 99e Al &) g o e |
4, 70T G HEE UG T [SGUY & |

[Question ID = 134][Question Description = 129_0_GP18_SEP22_S2_Q29]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

25)
Which of the following Pramanas (mearis of knowledge) is differentiated into Svartha (for oneself)

arid Parartha (for others) twpes?

1, Pratsaksa (perception)

2, Anumana (inferance)

3, Upamana fcomparison)
4, Sabda (verbal testimaory)

FrfrT # 8 o um @9 &Tarm) §1 @Y (@9 & R FR o (37 & g vaRt | Bk
AFTEETE 2

1, UFE
2, 3T
3, JUH
4, 95.



[Question ID = 135][Question Description = 130_0_GP18_SEP22_S2_Q30]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

26)
The collection of linked information residing on computers which is accessible through Internet is

called

1. HITR
2, HThAL
3, WA
4, URL

Feve & T O AT IR wvEl B T es YEATd O &1 A S O ST HeT A ¢

1 T ey
2 T ITHEA

3, By S B,
4 IR T

[Question ID = 136][Question Description = 131_0_GP18_SEP22_S2_Q31]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

27)
are text files with'small pieces of data and are used to identify specific users and Improve

the web browsing experience,

1, Cookies

2, Bookmarks
3, Blogs

4, Wikis

FEkiEd 3 8 o serd 31¢ ST arll Ua- BiRe & SHSTHE ugiHE B9y 61 9edH 63+ IR
AT §TES L & ST T GYR B & O fTeTaTe 2

AR
3, S
4, APt

[Question ID = 137][Question Description = 132_0_GP18_SEP22_S2_Q32]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]



28)
Which of the following statements are correct regarding Radio Frequency [dentification (RFID)

tachinolgigy?

A RFID refers to g wireless system comprising two components | tags and readers:

B, The reader iz'a device that has one or more antennas that emit radio waves and receive signals
back fram the RFID tag,

C. Passive RFID tags are powered by the reader and do not have a battery,
Choose the correct answer from the opfions given below,

1.4 BandC

2, Band Conly
3 4 and Canly
4, A and Bonly

AT smafTgEaT Ui (R UE o e gy I Fufifea S o d HyT ge 8 7
A, SR U (TS S T Yo o T2 aei aaeeid Woel &1 37 & ove 3R Te8

B, Y1e¥ U 4feeT & e U 47 3ifieh ST B i ST 73] SRl el § o SR UW 9 Sl e @
Heb el g1 WIS B3 2

¢, FfsFg sR o og St BT St g Sl 2 ol & o o8 S gt g
Frr fGu e Meen § Y uEl SR

1 ABIRC

> Hadp AN C
3 HAAAHRC
4 HIAAARE

[Question ID = 138][Question Description = 133_0_GP18_SEP22_S2_Q33]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]



*) Which of the following hardware components will lose data when the power to a computer |5
switched off?
A Processor Registers
B, Cache Memaory
850
O, RAR
E RO

Choose the correct answer from the opfions given below,

1.8 and D only

2.4 C and D anly
3 A Band Conly
4. A Band Donly

HOE &1 e o da v IR RgfifE 3 8 998 g1SdR vea !  Ser e g Sy
A, HHT U @)

B, BT (&) T

CUHTUH T

D, AR ETH

E S & TH

e w7 e+ & wel I

1 HaAe AR D

2 HgAA CHRD
3 HAAA BFRC
4, HIA A BIARD

[Question ID = 139][Question Description = 134_0_GP18_SEP22_S2_Q34]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

30)
An examiple of a cyber exacerbated crime is

1, Cyber wandalism
2, Cyber piracy

3, Cyber stalking
4, Cyber trespass



FERET 3§ ¥ & Us Hige Iuiiad SR E ?

1 TREE FaLdT

2 RET AN

3, GEE UlST &A1 (1)
4 TIREE Sfaeam

[Question ID = 140][Question Description = 135_0_GP18_SEP22_S2_Q35]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

31)
Hardness of water is'caused by the presence of

1, Solid particles in thie water
2, Pathogens in the water

3, Toxic metalsin the water
4, Cations in the water

FuffEa A ¢ ys! ol S eRT O S Ha RAIER B 7

1 HEH A B

2, e T

3, 9 T AT e
4,5 T

[Question ID = 141][Question Description = 136_0_GP18_SEP22_S2_Q36]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

32)
Redudng the intensity of noise by a factor of 10 will mean areduction in noise level by

1.10dB
2,20dB
3,3dB
4 6dB

10 8 U 9t (reey) Y TR 610 18d1 &1 0eH R R H [ TR &1 9eE g7 7

1,10dB
2,20dB
3.3de
4.6dE

[Question ID = 142][Question Description = 137_0_GP18_SEP22_S2_Q37]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



33)
Giver below are two staterments

Statement |: Photowaltaic cells are often made up of crystal silicon,

Statement Il Photoveltaic cells are also made up of inexpensive amorphous silicon, which is like

ordinary glass and has o crystal properties.

I light of the above statements, choose the most appropriate answer from the options given below

1, Both Staterment | and Staterment|l are correct

2, Both Statement | and Statement |l are incorrect

3, Statement | is correct but Statemerit || is incorrect
4, Statemment | isincorrect but Statement || s correct

:ﬂ%aﬁﬁﬁﬁma
WY - | W a9 el UiT: o e s a- g el

WY - || W e 10 od T ey o & dhed 80 B S 9Eny o 99 g1 & 4R
FTH1 ST e o T8l §id|

Il wYA] & Siiis H FH e fdeed] # 8 9e g g

1,547 IR G OE R
2, YA | SN | & e g
3. YA 1 qW 6, [ By (| e 8 |
4,9 | ST B, [ YT | BT E |

[Question ID = 143][Question Description = 138_0_GP18_SEP22_S2_Q38]
1 [Option ID = 569]
2 [Option ID = 570]
3 [Option ID = 571]
4 [Option ID = 572]

A W N -

34)

Grver below are byo statements, one is labelled as Assertion A and the otherislabelled a5 Reason

R

Assertion A: Biomass (g considered as carbon neutral,

Reason R: Thie amount of carbon they emitis equal to the amaunt of carbion they have consumed

during their life-time,

Im light of the abowe statements; choose the moest appropriate ariswer from the options given

bl o

1, Both A anid R are correct and R is the correct explanation of A

2, Both A anid R are correct but R is NOT the correct explanation of A
3, Alis carrect but R is not correct

4, Alis notcorrect but R is correct



TR oy RU e Uo ! (fhmyT () SR G5 & DRI (R) TETHTE |
YT (a) 99 TR &1 Hrd- FRUs gHTa=E |

TR (R) & BIET B o] HEA ST I0 G 6 96 I w1a9 I & GRA 370 GRT JGHIT 6]
EEEIRIEARREAREIE R

I S o STl 7 i Feedt d € wel g A

1,(%) 3R R)GHTEET & 3R (R), (&) B TSI AR E |

2, (&) 3R (R TFTTETE TRRL(R), (4) BT TR saT@ 16 & |
3, (&) T8 U3 (R) Wl TR R |

4, (8 WETTET B U¥ (R) HB 1 E |

[Question ID = 144][Question Description = 139_0_GP18_SEP22_S2_Q39]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

35)
Which of the following pollutant causes gggravation of respiratory diseass, and atmospheric
discolouration?

1, Carbon monoxide
2, Lead

3, Mitrogen dioxide
4, Ozane

IR # O @ aTHENe 0 e I N argHSe g sgat 7 gie S & 7

1, B AR

2, Ty

3, TRch SRR
4,

[Question ID = 145][Question Description = 140_0_GP18_SEP22_S2_Q40]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

36)
The Gowenment of India in Movernber 1948 appointed a University Education Commission under
the Chairmanship of.

1, Dy 8, Kathiar

2, Ms. Sucheta Kriplani
3, O, 3, Radhakrishirian
4, Mrs; Arnie Bezant



IR 1948 H HRT TR - [drm ! srearn o [dyfderer Rem s e e o1 4 2

1,81 T8 SIERI

2 ot AT guaHT
3, BTG I HW
4, 49 vt age

[Question ID = 146][Question Description = 141_0_GP18_SEP22_S2_Q41]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

37)
Harisa hehita Committes was appointed by the Mational Coundl for Women's Education in 1962
with the purpose to;

1, carry out inspeaction of schoolsin rural areas,

2, examine the differentiation of curriculum for boys and girls at all stages of education,
3, establishrscierice laboratories in universities.

4, formulate policy for use of educational satellites far rural areas,

1962 H AT RI&T I URNG (TR0 HISRT BR 99 TbR) §RT HgE g8 Hedl T &1
FeF T -

1, T &5 H R @ R e

2, &N & gt TR IR IeE L AR T el & unTe ! § BieT sl usae oA
3, [y TRt & Q5 & 1 T TRITeTSl & IR ST

4 I &7 & o Deire-guTe & o gl i Fyiig e

[Question ID = 147][Question Description = 142_0_GP18_SEP22_S2_Q42]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

38)
Whio among the following established the central Hindu Girl's Schiool at Banaras with the object of

imparting western education to girls?

1, Annie Besant

2, Sarojini Maidu

3, Raja Ram Kohan Ray

4, |shwar Chandra Vidyasagar

FrofifaT 18 e et i e ves o9 & s U RT 1 S B o R
e P E AR

1, T A=

2, AR g

3 I T HEA 14
4, Fu¥ dg RaEmR



[Question ID = 148][Question Description = 143_0_GP18_SEP22_S2_Q43]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

39)
Giver below are two staterments

Statement I: Swayam Prabha consists of a group of 34 DTH channels using GSAT-15 satellites on
24%7 basis,

Statement |l: The coricept note for Mational Education Policy prepared by MHRD in 2074 identified
ag many as 53 themes,

I light of the above statements, choose the most appropriaie answer from the options given below

1, Both Staterment | and Statement|l are correct

2, Both Statement | and Statement || are incorrect

3, Staternent | iz correct but Statement || is incorrect
4, Statemment | isincorract but Statement || s correct

TR a ey Rume .
YT - | WHYHT SO TS, SUUET BT IR BT 247 TR U U 24 S, T9d S UH
TEE|

HYT - 2014 A UH O RS (e ) g R T e A uR TR B T sEyRu-gE A
53 Ayy-a%sBiugaH &1 47|

Juad HYAl & ellE H FyfiEd Feedl ¥ ggT R gy

1, @Y ARG TR |
2, Y1 AN BT IR
3. HYT I e, g By (| TR
4, YA TR B, [ YT || GET g

[Question ID = 149][Question Description = 144_0_GP18_SEP22_S2_Q44]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]



40)

Match List | with List 11

List |

List Il

Educational Initiatives

Description

&, Rashtriva Uchchatar Shiksha Abhivan

| Promote innovation of a higher arder that directly
impacts the needs of the industries

B. Global Initiative an Academic Metwork

Il. Invite international faculties t¢ give shart term
programmes to Indian students,

. Uchchtar Avishkar Yojana

Il Promote researchin frontier areas of knowledge

India‘s Developing Economy

0. Scheme for Trans-disciplinary Research for

higher education

Choose the correct answer from the options given below:
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1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- GP_SH1_S2_C
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) Read the given passage and answer the questions that follow

The 'new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata, The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India's economic growth and development is the
averarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging.
Belonging in this is recrafted in the story of consumption and lifestyles. Here consumption is equated
to development and modernisation.

The new middle class in India is hugely active in;

1. Adopting innovative lifestyles

2. Acquiring new technical competence
3. Redefining the business strategies

4. Conspicuous consumption
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A wnN =

1 [Option ID = 601]
2 [Option ID = 602]
3 [Option ID = 603]
4 [Option ID = 604]

2) Read the given passage and answer the questions that follow

The 'mew middle class' in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. Itis connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commaodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India's economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India,
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging.
Belonging in this is recrafted in the story of consumption and lifestyles. Here consumption is equated

to development and modernisation.
The participation in global commaodity chains has given the middle class its own

1. |dentity
2. Market
3. Economic Status
4, Upward mobility
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[Question ID = 152][Question Description = 147_0_GP18_SEP22_S2_Q47]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

3) Read the given passage and answer the questions that follow

The ‘new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration, Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India’s economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging,
Belonging in this is recrafted in the story of consumption and lifestyles. Here consumption is equated
to development and modernisation.

The 'new middle class' is associated with

1. The production of global brands
2. Market expansion

3. Global capitalism

4. White collar supremacy



YRE # 79 g T JURGHET ®0 G nfrefia sfie: st um # Riga & R amauiie aedie]
AR/FETEY@ Y WiaTghdt @RER) B TG 81 98 JUHT & 2@ eqd B IS gen A® W E
F1E BT JUHNT T TN R TR SUHT BT A0 B HETa S 16 6 aell ¢ | 39 97 &1 UgaE
® o gEaet & 3! Hriiel gR1 uRYIRE it 81| eR A9 o &1 UgdH &1 UgaH [Aaf,
fimfd oiR T & U6 Wa & ¥9 & oRyifE &var 81 799 99 o & iR off See
3% W FEwE g1 =0 Y Aw-d I W & gheUIY (52 $R) SUNE Jhu®! R Sl
g ¥ & |l &1 8 uRae g gufia # el Eld & | Wi o & [fdy 9eg) &1 91 Sigdl & 98 T9R
& gH®R A afifq I & uw gdem R B R 9l aife g IR Rem F dm v wu A
AR &1 ST -t ok Braraas & Ry Rar-Radl 8 sfmeayl seee &1 WRa & He-
T HRE & AT @IS WUS & 7 YRG @ JUHIed] U5pla | ITHa eld ¢ | I8 Uepld a9 Gt &
IR 987 § el wed dat & 35y ¥ wuifa 81 sud ways IunT ofR et &1 serl #
qHgfad (Res) 7 | 81 SuuiT R &R MRS oo & 99H AHT9E ¢ |

qq 9 97 Y ¥ YRR 2

1. 3T e & IaET T
2. TR AR ¥

3. 4% Uuiiae |
4, UHEUT (FTge BIieR) Taeaar

[Question ID = 153][Question Description = 148_0_GP18_SEP22_S2_Q48]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

4) Read the given passage and answer the questions that follow

The ‘new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commeodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market,
The articulation of the market as the centre of India’s economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging,
Belonging in this is recrafted in the story of consumption and lifestyles, Here consumption is equated
to development and modernisation.

The elite class has a vision of the nation-state anchored by

1. Policy discourses

2. Market miracle

3. Limitless consumption
4. Corporate narratives
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[Question ID = 154][Question Description = 149_0_GP18_SEP22_S2_Q49]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]



%) Read the given passage and answer the questions that follow

The ‘new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical andfor managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commaodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India’s economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging.
Belonging in this is recrafted in the story of consumption and lifestyles, Here consumption is equated
to development and modernisation.

The main theme of the passage is:

1. Market-driven middle class identity

2. Need for high level consumption

3. Negative effect of modernised consumption
4. Emergence of knowledge enterprises

HRG # 78 7 T JuREE ©U F niyeie sifie i SO v # Qe § o) aefie dedie]
Ry RS T agioat @RER) # Srika 81 78 IuHin b 3Ww Jead O @ g e Wi
1S &1 FYHIT S 1T SR TIHH U &1 T2 &1 AETa® e 76 I e | 9 9 S 1 g H
e 9% Jecial & 3ue! WrileR! g1 uRMRE g1t 81 TNR A o7 31 ugar &1 ugaE A,
fieafdr iR Fe@mie & U@ WA & U 3 gRyiRa $3a1 &) 79 79 31 & R ot S
3 W1 a8 | J=d WY 7a-0 I WY & e (@R HN) SN TayH! gRT Hfigd
& o [ TReY €1 & URaxTE Uulae # MR e & | $yid o & ARy gt @191 diedl 8 98 R
& TR ¥ aftfa -3 @1 U T E 8 YR &1 o1ife giE SR Rem s Smd wu d
AR Bt e Aifd-Fuir R framea & Ry far-Faeif &g sfwgaa saee 81 ura # 7e-
T YRE & HPST BTG WS & T 4R &1 I Tk # AT e & | 98 Tl a9 guRl
IR 9gd ¥ Yala wed &l & ey 4 yAfla g 3ud WdsA QU AR Siedd &t sl #
g ((mee) 8| T8t 3ui Rem ok smyfaieso & GaE AHTar gl

T TR & e W8
1. 99R Ui ven ol uga =
2, 3 TR & JUMRT ST Haeadmar

3. A THT IUHNT & THRIHD UHE
4. F FIA BT I8

[Question ID = 155][Question Description = 150_0_GP18_SEP22_S2_Q50]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]



4. 4 [Option ID = 620]






